(B)LUIILITUH(T9—12)

(FR29%FE)

eoﬁuégﬁ%;ﬁ 658 1L+

HEER| EEEY|EEEY

BN 75 43| 32,594
EP B 36 12| 6,838
DEG 20 15[ 12,631
I 4L ET - -[ 1,158
= fnET 2 - 989
JII33 BT 3 3] 1,790
£RET - - 1,077
J\EEET 3 3| 2,806
=PIIL:g 3 2| 1,939
wmAIF - - 536
105 ET 8 8| 2830

(6)ETVIF - INRAMABRETIFY - FERNATIF(TI9—13)

(FR295FE )
EIOOFY INRERRERE D OF Y FEENAFHIIFY
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BRI 1,756 1,714 1690 1,767 1,764| 1,725| 1,701 1,773 - - -
T 528 529 518 570 529 531 519 571 - - -
AR 827 800 780 766 829 804 788 761 - - -
SRAET 63 64 70 73 62 63 70 72 - - -
=nEy 48 38 37 40 48 38 37 40 - - -
113 ET 69 62 59 66 69 62 59 66 - - -
=y 10 10 11 19 10 10 11 18 - - -
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